This question paper contains 8+3 printed pages]

Roll No.
S.No. of Question Paper : 4219
Unique Paper Code : 210151 ' C
Name of the Paper ; Paper‘l.l (Logical Reasoning)
NameoftheCourse  : B.A. (Pr'-og.) Discipline
Semester | |
Duration: 3 H;)urs _ , o : Maximum Marks : 75

 (Write your Roll No. on the top immediately on receipt of this question paper.)
(38 TH-1F & fien @ W Ry M i@ wm g g fafEm 1)
Note : Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.

ﬁ—:umﬁ wwwmwaﬁsﬁmﬁﬂﬁsﬁ@wﬁﬂﬁq wfer T S
mmwwﬁ@mam

Attempt All questions.
ol T FR
Secti(.m. A
(@uzg ‘3n)
. (@ _State.v;fhether the.following statements are true or false (any ﬁye) : 5
€] A sound deciuctive argument is one that is valid and has all true premises.

(iy An invalid deductive argument is one in which it the prerrﬁses are true the conclusion

Id be false, ' ' :
cou e false _ . pTO.
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(iif) In_E proposition the subject term is distributed but the predicate term is

not.
(iv) O proposition is the contradictory of A proposition.
(v) The middle term appe;n's in both the premises but not in the conclusion.

(vi) A syllogism with a particular conclusion can have two universal premises.

“(vii) Figure and mood together determine a categorical syllogism’s logical form.

Fill in the blanks (any five) : ‘ o 5

() Theeoeeeceenn of an argument is the proposition that is affirmed on the

basis of other propositions in the argument.

() et o OCCUTS when the subject and predicate terms of the proposition

are interchanged.

@) To........ e a proposition, change its qtialify and replace the predicate

term by complement.

()" ‘No men are women’ is the........o..oooooooooo.. of ‘No women are men’.
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(v) There are only................... e S ways in which propositions may be
opposed.

‘(vi) A valid syllogism will always.distributle the. .o, term in at least one
premise.

(Vi) The..eeerererreenneee of a syllogism is determined by the position of the middle

term in its premises.
Give brief answerslto the following questions (any ten) : : 20
(:)‘ | What is'a proposition ?
(i) What is the difference bctwéen premise and cong]usion ?
(i) Wh;clt 15 quality of a _prppbsition ?

(iv)  What is the mood of a syllogism ?

-(v) What is the difference between contraries and contradictories ?

(vi) What is contraposition ?

(vii) What is the role of the middle term in a syllogism 7

(viii) When does conversion result in valid inferences ?

P.T.O.
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(ix) - Why 1s contraposition of E proposition not possible ?

(x) Construct an argument that commits existential fallacy.

]

(xiy Why in E proposition both the subject and predicate_h terms are distributed ?

A}

- (xif) What characterizes the first figure and the fourth figure ?

(xiii.) What is the fallacy of fdur terms ?

{xiv) Why does 'O pr.opositif)n distribute its predicate term ? |

(xv) Give an 'exér'ni)le (Sf a syllogism which involvles. both the fa]lacies_ of illicif major
and illicit minorf
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Write notes on any three : 15

0
(i)

(iii)

- ()

(v)

'Distn'bution of terms;

Existential import;

Traditional square of opposition;
Validity and soundness:

Relevance of logic.
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(a) Arrdange thé following syl.logi‘sm into standard form, name i.t's figure and mpod. Also
test its validity/invalidity using the six rules..(any one) 6

(i) No industrialists_are successful ‘politicians, because no conceited people are

successful politicians, and some industrialists are conceited people.

(i) Since all wild animals are ferocious creatures and some animals from Africa

are ferocious creatures; therefore some wild animals are animals from Africa.

(b) Test the validity/invalidity of the following (any wo) : 4
() AEE-1
@) 1A1-2

(i) OAO-3

{(iv) OEO-4
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Identify the fallacies committed in Fhe following passages (any five) : - 10

() ' “You should buythese shoes because everyone has them.”

(i) “I often see dogs in the park. You have a dog; therefore, [ often see your

dog in the park”.
| P.TO.
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(7)) “I know there are angels! There must be : no one can prove that they don’t

exist!”

(iv) “A spoonful of this medicine cured a light cold that I had last month. Half

a cupful therefore ought to rid me of this severe one.”

(v) “Because Smith was standing next to me when I first noticed the disappearance

of my wallet, I accuse him of having stolen it.”

(vi) “The accused is insane, because he lacks sufficient mentality to be guilty of

a crime.”
Write short notes.on the following (any two) : | 10
)] ' False cause;
(i) Fallacy of accidgnt;
(iii) ,Complex- question; -
(iv} Argument from ignorance.
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